
Steroids 

Methyl groups at C-10 and C-13 are “angular”  
methyl groups 

Steroid B/ C, and C/D rings are trans fused 



Biosynthesis of Cholesterol 









Synthetic Steroids 

Question 

Which of the triglycerides below is optically active?  

 A)  1 and 3   B) 2 and 3    E)
 none 
 C)  3 only   D) 1, 2, and 3 

Question 

Misoprostol is classified as a 

 A)  terpene.   B) wax. 

 C)  steroid.   D) prostaglandin. 

Question 

The backbone of cephalosporin P is classified as a 

 A)  prostaglandin.  B) steroid. 
 C)  cholesterol.   D) sesterpene. 

Question 

Farnesol is classified as a 

 A)  monoterpene. 

 B)  sesquiterpene. 

 C)  diterpene. 

 D)  triterpene. 


